[ Efficiency vs vertpos |

~ 0.01
.009
.008
.007
.006
0.005
0.004
0.003

efjcliencyys yert

0.
0.
0.
0.

Ratio

e_E;cmacy_dgs \_@rt

.........................................

.........................................

........................

........................

10 0
TP vertr (cr%)

2

= %Mé%%%gerE

[Effictend == BRMsbH-delaile Tf“

N 0.02F

LT 5 ST RN R ST I
L S SRR SECTII SRS 38 S
R RT SCCIITS SRS 38 S
A0S L N A A S T
0.01F- SRR S SR I S
e AT SIS R 1
O 1
oo | LI L
o0 y) = N I I 1 | 1 Y
O O E
s do 4| —
BOEGTEGT 0 10 20

[ Efficiency vs. sim PV z |

~ 0.0

TP vert z (cm)

|
P

=8

6 -4 -2 0 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


